

3065 Kent Avenue West Lafayette, IN 47906-1076 Phone: (765) 463-0112 Fax: (765) 463-4722 E-mail: info@ssci-inc.com Web: www.ssci-inc.com

Instrument Records (Uncontrolled Copies) for Study EL20151326

Project ID: EL20151326 Report Date: 2/10/2016

DOCKET A L A R M Find authenticated court documents without watermarks at <u>docketalarm.com</u>.

I. SUMMARY

This document contains uncontrolled copies of the instrument records for requested instruments used in study EL20151326.

Instrument	Model	Form(s)	Page
Balance #12	Mettler MX5	108923	4
		108096	5
Balance #18	Mettler AX105DR	110190	8
		110198	11
Oven #1	Fisher Scientific Model 825F	108223 - 108243	14
pll Motor #4	Denver 215	107200	35
pH Meter #4	Denver 215	107205	36
Pipette 234542	Nichiryo Oxford Benchmate 100-1000µL	N/A	37
Thermometer 383675	VWR 20/130°C S/N: Q61508	106527	39

II. RECORDS

					Effective Date:	01/30/201
	INS	TRUMEN	T OPERA	TING PROCE	DURE	
		Elect	ronic Analyt	ical Balances		
	1.2		Appendi	UN	CONTRO	LLED C
			Appendi	ι.		
		BALANCI		ERIFICATION FORM		
ME	PTI ER MODEL	MYE	BALANCI			
IVIE	ITLER MODEL	MAS	SIX PLA	CE	SERIAL # 112	20283856
Date		167	wender 2019	Time	9:500	am
Number of I	External Weight Set	01-35116		Expiration date	3/31/2016	6
Performed b	у	Denise M	Shord-Onder	Date of Last Internal Calibratio	mª 1671	00 201
		Delense Lauri	A			
		Balance Level	yes in no li	f no, corrected? 🗆 yes 🗖 i	no	
		SIX	PLACE ACCUI	ACV CHECK		
		Nominal	I LACE ACCOI	CACT CHECK	Comulia	
	Range ^b	Calibration	Observed	Allowable Range (g) ^d	Complie Docs N	
	Range	Weight (g)	Weight (g)	Anowable Range (g)	Does N Comple	
		0.002		0.001963 - 0.002043	Compr	<u>y</u>
		0.002		0.002963 - 0.003043		
	Low	0.005		0.004958 - 0.005038		
		0.01	0.010013	0.009960 - 0.010040	C	
		0.02	0.020003	0.019960 - 0.020040	e	
		0.05	0.00000	0.049957 - 0.050037		
	1.5 1.1	0.1		0.099957 - 0.100037		
		0.2 dot	0.200005	0.199963 - 0.200043	C	-
		0.2	U. Meeres	0.199970 - 0.200050		
				0.200000		
				0 499896 - 0 500096		
	Medium	0.5		0.499896 - 0.500096	-	
	Medium	0.5		0.999891 - 1.000091		
	Medium	0.5 1 2 dot		0.999891 - 1.000091 1.999878 - 2.000078		
	Medium	0.5 1 2 dot 2		0.999891 - 1.000091 1.999878 - 2.000078 1.999879 - 2.000079		
*Record our		0.5 1 2 dot 2 5	is heine performad	0.999891 - 1.000091 1.999878 - 2.000078		
Choose two	rent date if the week	0.5 1 2 dot 2 5 ly internal calibration are and one weight in p	nedium range. Maxir	0.999891 - 1.000091 1.999878 - 2.000078 1.999879 - 2.000079 4.999917 - 5.000117 mum load for balance is 5 g		
^o Choose two ^c The abbrev	rent date if the weekl o weights in low rang iations 'C' and 'DN(0.5 1 2 dot 2 5 ly internal calibration ge and one weight in this C' may be used in this	nedium range. Maxin s column and denote "	0.999891 – 1.000091 1.999878 – 2.000078 1.999879 – 2.000079 4.999917 – 5.000117 num load for balance is 5 g. Complies' and 'Does Not Comp	bly*, respectively.	
^o Choose two ^c The abbrev	rent date if the weekl o weights in low rang iations 'C' and 'DN(0.5 1 2 dot 2 5 ly internal calibration ge and one weight in this C' may be used in this	nedium range. Maxin s column and denote "	0.999891 - 1.000091 1.999878 - 2.000078 1.999879 - 2.000079 4.999917 - 5.000117 mum load for balance is 5 g	bly*, respectively.	
^o Choose two ^c The abbrev	rent date if the weekl o weights in low rang iations 'C' and 'DN(0.5 1 2 dot 2 5 ly internal calibration ge and one weight in this C' may be used in this	nedium range. Maxin s column and denote "	0.999891 – 1.000091 1.999878 – 2.000078 1.999879 – 2.000079 4.999917 – 5.000117 num load for balance is 5 g. Complies' and 'Does Not Comp	bly*, respectively.	
^b Choose two ^c The abbrev ^d Allowable	rent date if the weekl o weights in low rang iations 'C' and 'DNC ranges are calculated	0.5 1 2 dot 2 5 ly internal calibration ge and one weight in this C' may be used in this	nedium range. Maxin s column and denote "	0.999891 - 1.000091 1.999878 - 2.000078 1.999879 - 2.000079 4.999917 - 5.000117 mum load for balance is 5 g. Complies' and 'Does Not Comp n conjunction with Form 183.	oly", respectively.	
^b Choose two ^c The abbrev ^d Allowable	rent date if the weekl o weights in low rang iations 'C' and 'DN(0.5 1 2 dot 2 5 ly internal calibration ge and one weight in this C' may be used in this	nedium range. Maxin s column and denote "	0.999891 – 1.000091 1.999878 – 2.000078 1.999879 – 2.000079 4.999917 – 5.000117 num load for balance is 5 g. Complies' and 'Does Not Comp	oly", respectively.	_
^b Choose two ^c The abbrev ^d Allowable	rent date if the weekl o weights in low rang iations 'C' and 'DN ranges are calculated wer Initials	0.5 1 2 dot 2 5 ly internal calibration ge and one weight in this C' may be used in this	nedium range. Maxin s column and denote "	0.999891 - 1.000091 1.999878 - 2.000078 1.999879 - 2.000079 4.999917 - 5.000117 mum load for balance is 5 g. Complies' and 'Does Not Comp n conjunction with Form 183. Date <u>11-16-18</u>	oly", respectively.	_
^b Choose two ^c The abbrev ^d Allowable Review	rent date if the weekl o weights in low rang iations 'C' and 'DN ranges are calculated wer Initials	0.5 1 2 dot 2 5 ly internal calibration ge and one weight in this via validated spreads	nedium range. Maxin s column and denote *(sheet XL-127 [9] and i	0.999891 - 1.000091 1.999878 - 2.000078 1.999879 - 2.000079 4.999917 - 5.000117 mum load for balance is 5 g. Complies' and 'Does Not Comp n conjunction with Form 183. Date <u>11-16-18</u>	oly", respectively.	_
^b Choose two ^c The abbrev ^d Allowable Review	rent date if the weekl o weights in low rang iations 'C' and 'DN ranges are calculated wer Initials	0.5 1 2 dot 2 5 ly internal calibration ge and one weight in this via validated spreads	nedium range. Maxin s column and denote *(sheet XL-127 [9] and i	0.999891 - 1.000091 1.999878 - 2.000078 1.999879 - 2.000079 4.999917 - 5.000117 mum load for balance is 5 g. Complies' and 'Does Not Comp n conjunction with Form 183. Date <u>11-16-18</u>	oly", respectively.	-

DOCKET Find authenticated court documents without watermarks at <u>docketalarm.com</u>.

Handlerpinces to right of decimal in g)(n N, note n corrected)Calibration#14Retrict J30ct DM J32015wt selected 0.2 g 50 g#14Retrict J30ct DM J32015wt selected 0.2 g 50 g #22WJ30ct DM J32015wt selected 10 g $20, 00 \text{ J}$ #22WJ00 gwt 10,01 $20, 00 \text{ J}$ 100 g #55Mp 100 gWt selected 0.1 g $20, 0000 \text{ J}$ 100 g #94Mp 100 gWt selected 0.2 g $20, 0000 \text{ J}$ 100 g #134Mp N/AN/Awt selected 0.02 g 20 g 100 g #134Mp N/Awt selected 0.02 g 20 g 100 g wt selected 0.02 g 20 g 100 g 100 g #134Mp N/Awt selected 0.2 g 20 g					l)1/30/2015
UNCONTROLLER Appendix A BALANCE ACCURACY VERIFICATION FORM Date Member of External Weight Set Performed by The (start and finish) F: 12000 0 9:3 Member of External Weight Set Performed by Date Member of External Weight Set Performed by The (start and finish) F: 120000 0 9:3 Member of Number of places to right of decimal in g) Date of Last Corrected) Minimum Middle Maximu Colspan="2">Minimum Minidle Maxi	INST	RUMEN	r opera	TING P	ROCED	DURE	
Appendix A BALANCE ACCURACY VERIFICATION FORM Date Number of External Weight Set Performed by 3 1 1 2 0 1 1 1 2 0 1 1 2 0 1 2 0 1 2 0 1 1 0 1 1 1 1		Electr	onic Analy	tical Bala	nces		
BALANCE ACCURÂCY VERIFICATION FORMDateTime (start and finish) $3 \pm \frac{12 \text{ cond}}{10 \text{ cond}}$ Number of External Weight SetSet (a)Time (start and finish) $3 \pm \frac{12 \text{ cond}}{10 \text{ cond}}$ Balance IDReadability (number of places to right of decimal in g)Balance Level (V/N)Date of Last Internal CalibrationMinimum Wit selectedMiddleMaximum Tegets#14Readability (number of places to right of decimal in g)Balance (IVN, note if corrected)Date of Last Internal CalibrationMinimum Wit selectedMiddle 0.2 gMaximu minimum#14Readability (IVN, note if corrected)Date of Last Internal CalibrationWit selected0.2 g $\sqrt{50 \text{ g}}$ #14Readability (IVN, note if corrected)Balance to selectedMinimum MiddleMaximu MiddleMaximu Maximu#14Readability (IVN, note if corrected)Balance to selectedDate of Last mit selectedMinimum MiddleMaximu Maximu#134MpMpMit selected0.2 g mit selected0.2 g mit selected0.0 g mit selected#134MpN/AMit selected0.2 g mit selected0.2 g mit selected0.2 g mit selected0.2 g mit selected0.2 g mit selected#134Mp </td <td></td> <td>1-210</td> <td></td> <td></td> <td>UNCON</td> <td>TROLLE</td> <td>D</td>		1-210			UNCON	TROLLE	D
Date Number of External Weight Ser Performed by $13 Orbeter 2425$ set to male defined on to the first to the set of		BALANCE	Append ACCURACY V	ix A /ERIFICATIO	N FORM		
Number of External Weight SetDefined byBalance Level (Y/N)Balance Level (Y/N)Balance ID number of places to right of decimal in g)Balance Level (Y/N)#14Balance Level (Y/N)Date of Last Internal CalibrationMinimum 						2:40	. a.s
Performed byThe set of last (number of places to right of decimal in g)Date of Last Internal CalibrationAccuracy VerificationBalance ID number of places to right of decimal in g)Balance Level (Y/N) (If N, note if corrected)Date of Last Internal CalibrationMinimum MiddleMaximu#14Readability Level (Y/N) (If N, note if corrected)Date of Last Internal CalibrationMinimum MiddleMaximu#22%30 cm%%%60 cm%700 g#22%70 cm%100 g20 cm100 g#44%%70 cm%100 g20 cm100 g#55%%%100 cm20 cm100 g#134%%70 cm%100 cm20 cm100 g#144%%%%%0 cm cm100 g#144%%%%%0 cm cm100 g#144%%%%%0 cm cm%#154%%%%0 cm%0 cm#154%%%%0 cm%0 cm#164%%%%0 cm%0 cm#174%%%%0 cm%0 cm#184%% <td></td> <td>set (</td> <td>A)</td> <td>Expiration a</td> <td></td> <td>1 mars</td> <td>10 112</td>		set (A)	Expiration a		1 mars	10 112
Image: Second s	ed by Der		andal	0		- ing	
Balance ID NumberReadability (number of places to right of decimal in g)Balance Level (Y/N) (If N, note if corrected)Date of Last Internal CalibrationMinimumMiddleMaximu#14Retrievel (Y/N) (If N, note if corrected) $Minimum$ MinimumMiddleMaximu#14Retrievel (Y/N) (If N, note if corrected) $Minimum$ MinimumMiddleMaximu#22W13 active Wt selected 0.2 g 50 g #22W13 active Wt selected 10 g 20 g 100 g #55alp of the transform Wt selected 0.1 g 20 g 100 g #134 Wp 10 g 20 g 100 g Wt 20 g 100 g #144 Mp N/A Wt 00 g 20 g 100 g #154 Mp Mp Max Wt 00 g 20 g 100 g Wt 40 g Mp Max Wt 00 g 20 g 100 g #154 Mp Mp Mp Mt 00 g Wt 00 g Wt 00 g #163 Wt Mp Mp Mp Mt Mt 00 g Mt 00 g Mt Wt 00 g Mt 00 g Mt 00 g Mt 00 g Mt Wt <td></td> <td>1</td> <td>1</td> <td></td> <td>Accurac</td> <td>v Verification</td> <td>130+15</td>		1	1		Accurac	v Verification	130+15
Numberplaces to right of decimal in g)(If N, note if corrected)Internal CalibrationMinimumMiddleMaximu#14Retrode 13 gettswt selected 0.2 g 50 g #22%13 gettswt selected 10 g 20 g 100 g #22%13 gettswt selected 10 g 20 g 100 g #55 10 g 10 g 20 g 100 g #94 40 g 10 g 20 g 100 g #134 30 g 10 g 30 g 100 g #144 30 g 10 g 20 g 100 g #154 40 g 10 g 20 g 20 g #154 30 g 10 g 20 g 20 g Page 1of 3 30 g 100 g 100 g 100 g Page 1of 3 40 g 10 g 100 g 100 g 100 g 10 g 10 g 100 g 100 g 100 g 10 g 10 g 100 g 100 g 100 g 10 g 10 g 100 g 100 g 100 g 10 g 10 g 10 g 10 g 100 g 10 g 10 g 10 g 10 g 100 g 10 g 10 g 10 g <td></td> <td></td> <td>Date of Last</td> <td></td> <td></td> <td></td> <td></td>			Date of Last				
#14Retrict 13 and 13 an	er places to right of	(If N, note if	Internal		Minimum	Middle	Maximu
#2 2 % 12 30 100 g wt selected 10 g wt selected 10 g wt selected #5 5 12 100 100 g wt selected 10 100 g wt selected 10 100 g wt selected #5 5 100 100 100 g wt selected 100 100 g wt selected 100 100 g wt selected #9 4 30 10		1	oct.	wt selected	0.2 g	11	50 g,
#2 2 % 12^{+} 12^{+} 10^{+}	4	Retasi	132015	the second s	X	X	X
#2 2 wt $10,01$ $20,00$ $100,0$ #5 5 wt $10,01$ $20,00$ $100,0$ #5 5 wt $10,007$ wt $20,000$ $100,00$ #9 4 wt $100,007$ wt $0,10009$ $20,00006$ $100,000$ #9 4 wt $0,10009$ $20,00006$ $100,000$ #13 4 wt $0,2001$ $10,949,2$ $100,9$ #14 4 wt $0,2001$ $0,000,01$ $91,99$ #15 4 wt $0,2001$ $20,000,01$ $91,99$ wt $0,2001$ $20,000,1$ $91,99$ $00,99$ $00,99$ $00,99$ $00,99$ $00,99$ $00,99$ $00,99$ $00,99$ $00,99$ $00,99$ $00,9$					10 g	200	100 g
#5 5 a_{PP} c_{PP} <td>2</td> <td>wites</td> <td>120 15</td> <td></td> <td></td> <td>20.00</td> <td></td>	2	wites	120 15			20.00	
#5 5 No wt 10009 20.0000 10000 #9 4 Yp 10000 10000 20.0000 10000 #13 4 Yp 10000 10000 20.0000 10000 #13 4 Yp 10000 10000 10000 10000 #14 4 Yp 10000 10000 10000 10000 10000 #14 4 Yp 10000 10000 10000 10000 10000 10000 #14 4 Yp 10000 10000 10000 10000 10000 #15 4 Yp 10000 10000 10000 10000 10000 10000 #15 4 Yp 100000 100000 100000	-	0	0.30	C/DNC?	Contract in the second second second		C
#9 4 \mathcal{Y}_{p} \mathcal{Y}_{d} $$		-12 At	332		the second s		100 g
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	5	W sod	00'202'	and the second se		and the second se	
#9 4 Yp Lot and Other wt 0.2001 19.9942 99.99 #13 4 Yp N/A wt 0.2001 19.9442 99.99 #13 4 Yp N/A wt 0.2001 19.9442 99.99 #13 4 Yp N/A wt selected 0.02 g 209 100 g #14 4 Yp M/A wt 0.02 00 19.99 19.79 #14 4 Yp M/A wt 0.02 00 19.99 100 g #14 4 Yp M/A wt 0.02 00 19.99 100 g #15 4 Yp M/A Wt 0.2001 20.0001 99.99 #15 4 Yp M/A Wt 0.2000 20.0001 99.99 #15 4 Yp M/A Yp Yp Yp Yp Yp Yp #15 4 Yp Yp<		1-k	12	the second			100 g
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	4	yes	2003ess	wt	Callenge and Martin	19.9492	99.998
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$		0		the second s		0	
#14 4 Δ_{gp} </td <td>4</td> <td>als</td> <td rowspan="2">N/A</td> <td></td> <td></td> <td></td> <td></td>	4	als	N/A				
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$		8					11.111
#15 4 C/p Total C/DNC? C		algo alto	1322	wt selected		209	100 g
#15 4 Close 10 Weight 10 Weight 10 Weight 100 g #15 4 Close 10 100 g 100 g 100 g Wit 0.2000 20.0001 99.99 C/DNC? C C Page 1 of 3 D2 D2 D2	4		190t 15	and the second data in the second sec	the second s		99.999
#15 4 00 2015 wt 0.2000 20.0001 99.99 Page 1 of 3 Day							
Page 1 of 3	4	2010	that is	the second se			
Page 1 of 3 Eq.		0	and a second	C/DNC?	C	L	C
That Is	3				Leg.		
					130	+15	
	. 4-1				130	+15	
		ed by Ser ID Readability (number of places to right of decimal in g) 4 2 5 4 4 4 4 4 4 4 4	BALANCE J 3 Oct of External Weight Set of Market Market D Readability D Readability Places to right of decimal in g) 2 % 2 % 2 % 4 Retwood 2 % 4 Retwood 4 Retwood	Append BALANCE ACCURACY A 1304542225 of External Weight Set bd by <u>Jerrin Melophordod</u> The Readability <u>Balance</u> Level (Y/N) <u>Date of Last Internal</u> Calibration 4 <u>Readability Balance</u> Level (Y/N) <u>Date of Last Internal</u> Calibration 4 <u>Readability Balance</u> 130455 130455 130555 13055 130555 130555 130555 130555 130555 130555 130555 1305555 130555 1305555 1305555 1305555 1305555 13055555 13055555 13055555 1305555 13055555 130555	Appendix A BALANCE ACCURACY VERIFICATION 13000000000000000000000000000000000000	Duncon Appendix A BALANCE ACCURACY VERIFICATION FORM Image and set of lister and finish set of set of set of the set o	UNCONTROLLE Appendix A BALANCE ACCURACY VERIFICATION FORM Image: Accuracy Verification (start and finish) and (mamber of accuracy Verification (number of gint of corrected) Accuracy Verification (number of gint of corrected) Image: Accuracy verification (number of gint of corrected) Date of Last Internal Calibration Minimum Middle 4 Readability (accuracy Verification (accuracy Verification (corrected) Internal Calibration Minimum Middle 2 Mathematication (corrected) Miselected 0.2 g Miselected 0.2 g 3 Mathematication (corrected) Miselected 0.1 g 0.0 d 0.0 d 4 Mathematication (CDNC? Miselected 0.2 g 0.0 d 0.0 d 0.0 d 4 Mathematication (CDNC? Miselected 0.2 g 0.0 d 0.0 d

DOCKET A L A R M Find authenticated court documents without watermarks at <u>docketalarm.com</u>.

DOCKET A L A R M



Explore Litigation Insights

Docket Alarm provides insights to develop a more informed litigation strategy and the peace of mind of knowing you're on top of things.

Real-Time Litigation Alerts



Keep your litigation team up-to-date with **real-time alerts** and advanced team management tools built for the enterprise, all while greatly reducing PACER spend.

Our comprehensive service means we can handle Federal, State, and Administrative courts across the country.

Advanced Docket Research



With over 230 million records, Docket Alarm's cloud-native docket research platform finds what other services can't. Coverage includes Federal, State, plus PTAB, TTAB, ITC and NLRB decisions, all in one place.

Identify arguments that have been successful in the past with full text, pinpoint searching. Link to case law cited within any court document via Fastcase.

Analytics At Your Fingertips



Learn what happened the last time a particular judge, opposing counsel or company faced cases similar to yours.

Advanced out-of-the-box PTAB and TTAB analytics are always at your fingertips.

API

Docket Alarm offers a powerful API (application programming interface) to developers that want to integrate case filings into their apps.

LAW FIRMS

Build custom dashboards for your attorneys and clients with live data direct from the court.

Automate many repetitive legal tasks like conflict checks, document management, and marketing.

FINANCIAL INSTITUTIONS

Litigation and bankruptcy checks for companies and debtors.

E-DISCOVERY AND LEGAL VENDORS

Sync your system to PACER to automate legal marketing.